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7a®>+7b—4a*+b 4
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Identify the equation that has a
solution different than the solution

to the other three.
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4 4
—+12 =14 —+12 =14
Ipl Ip|
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491% {2} .
[570]
11
6.4% [— E’ E} 5
[743]
55.23% {—2,2} .
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[3811]
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B [6245] y — intercept is 1 g, x — intercept is 2% .
2 . 1 -
“ 22.12% 17 x gna e ghlilly 20 8y gaa e phlal i
[2567] y —intercept is 2 %, x — intercept is 12.
| Qe
| QS 1 - 2 PR
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[1419] y —intercept is —15, x — intercept is —2 %
2 . 1 .
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No Response 5
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Rate of Change for a Line pudiue) psill Jaso
IS 5asail] Jolso
O sl Caog
‘b30ll buwgie )
; i ) JEail (B Jaad) padl) Jura sa )
mins 2 secs 2 Find the rate of change represented : L i
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21l Jlgalle
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o 5.72% 4
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: ::J 8.13% 24 1
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40 2
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240 4
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Jlgaall eVl giwo
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J2f + 7] = 21 dglaad Ja
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57.44% f<-14 4§f=7 1
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